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1. Be/KEAR T

2 B

]
- —N4 wrE K+ B E) = BAT| #E =S
Bl K &
&™)
HPPE Y% 0. 68+0. 67 = 1A
Bl K AR TF L4 $ 200 A
i = 1K 1
A
HPPE 1 1
EFF—X $ 200 X100 1
JWWA XIS 2 2
Ay VaA MPP) $ 200 1
Y7714 —h 2.00 2.0
PR —b W=400 m
2.00 2.0
BT W=50 m
2.00 2.0
=747 UAY— FRT-174 m




1. Be/KEAR T (1-2)
i = B
——RN4 wr K ~+ & H) = AL | HE =B
Bl K &
& ™M
FIPPE 2 1 = 20K
B A AR T FL ¢ 100X 5000 N
HPPE H )% 4.83+4.51+4.18+3.97+3.30+2.83 = 64
$ 100 X
HPPE Z.U)%& 0. 54+1. 84+0. 62+0. 32+0. 32+0. 32+0. 32 = OA
$ 100 X
5 = 26K 26
X
HPPE 2 2
EFY /v b $ 100 JIE]
HPPE 15 15
EFFZ~UF & 100 X 45° 1A
HPPE 7 7
EFMi 5~ R $ 100X 45° e
HPPE 1 1
HLOfM7I Y $ 100 e
HPPE 1 1
REKEITEE $ 150 X 100 H
1 1
77 VT $ 100 7.5K GF HL
1 1
VI — U5 6 100 FHL D45 3
2 2
B FRR v 7 A HH
1 1
/NHZE R TR ¢ 25 Ji
1 1
ZER IR YT A FH
HPPE 1 1
FN VA AAE ¢ 100X 25 1
Y7714 —h 11.70 11.7
MR —h W=400 m
Y7714 —h 128.30 128.3
R —h W=150 m
140.00 140.0
BHTT—7 W=50 m
140.00 140.0
or—7 47 A% — FRT-174 m




1. Be/KEAR T

%

g (113
—+

——N| 4 wr K ~+ & H) = AL | HE =B
Bl K &
(G- )
EF 2.00 =2.00m 2.0
F)IFL AR T 6 200 m
EF 140.00-(0.34+0.86) =138.80m 138.8
FYVIFV VAR T ¢ 100 m
2 = 20 2
Y FL I T ¢ 200 o
6+7 = 13A 13
Yo FL B ok T ¢ 100 5
EF2 M 1 =1{5FT 1
)L T T ¢ 200 (&5
EF2 M 2+7 =9f& F 9
FYFL BT T 6 100 i
EF1 O 20+6+15 = 410 41
YL BT L ¢ 100 A
22 4
AH=hVIETE T ¢ 200 ]
1 1
7Y HEE L ¢ 100 7.5K A
HPPE 1 1
AW KB TTEHE L ¢ 150 X100 & AT
1 1
) FpEE T (&
2 2
(LIRS S AT, -
1 1
INRIZE SRR E T ¢ 25 (&5
1 1
LEERR I AHKE L 5
HPPE 1 1
PNV AR E T $ 100X 25 (&5
142.0 142.0
PR AR — MR T m
2.0 2.0
IR — AR L $ 200 m
140.0 140.0
IR — AR L $ 100 m
142.0 142.0
2 =740 A Y—Higk T m




1. fdkE LT

(1-3)

s = il B =
a—p 4 i} R NI S AL = i &
2-7 MTiEAs{0-7 FAKRMA-T [ENEAs|2-6 HTiEAsi4-5 [ElAs
Bl kO A @ + T e ¢ 100 ¢ 100 ¢ 100 ¢ 150 ¢ 200

AS 68.00 5.00 4.00 4,00 81.00 81

il 4% ] i3y €L 15emPl m
AS 18.70 1.40 1.10 1.10 22.30 22

¥ Iw b ¥ L T 10cmPA m2
20.38 1.83 1.25 1.60 25.06 25

B T b Hi T BHO. 2m3 m3
o 1L 7.59 23.10 0.56 0.48 0.51 32.24 32

2 A = T BHO. 2m3 m3
BHO. 2m3 1.31 1.05 2.36 2

s e M = T CR-40~0 m3
FAET 5.80 0.34 6.14 6

i W g = T BHO. 2m3 m3
18.70 1.10 19.80 20

i J& B 5 T.| RC-40-0 25cm m2
18.70 1.10 19.80 20

= Je B 5 T M-25 10cm m2
18.70 1.10 19.80 20

# JE | #RIEAs 20F 4cm m2
1.38 1.10 2.48 3

# JE T.| HUKIEEAs 20 5cm m2
+#> BHO. 2m3 14.58 1.83 0.91 1.60 18.92 19

b5 + s # T 4t —2km m3
AsHi BHO. 2m3 0.75 0.14 0.04 0.11 1.04 1

b5 + s # T 2t —10km m3
0.75 0.14 0.04 0.11 1.04 1

A s #E HI B M L B E m3




1. FdkE LT (1—4)
44 = 7 =
a—p £ i} K ST ik Hifr| s i &

34. 0 34.0

2-7 WIiEASs $100 m
AS 2. 0%34. 0 68. 00

Fii 4E ] W T 15cmEh T m
AS 0. 55%34. 0 18. 70

BO%E B b oL T 10cmPh T m2
IR HIADA 0.55%1. 09%34. 0 20. 38

B i Eii Hil T BHO. 2m3 m3
BHO. 2m3 (0. 55%0. 43-0. 13%0. 13*0. 785) *34. 0 7.59

/% A = T PrREERD m3
BHYE A A IA 0. 55%0. 31%34. 0 5. 80

B ik b R T BHO. 2m3 m3
0. 55%34. 0 18. 70

T & I T.| RC-40-0 25cm m2
0. 55%34. 0 18. 70

s =] i T M-25  10cm m2
0. 55%34. 0 18. 70

#* & T.| #BHRiEAs 20F 4cm m2
+#> BHO. 2m3 20. 38-5. 80 14, 58

23 + AL Bii} T 4t —2km m3
As3 BHO. 2m3 0. 55%0. 04%34. 0 0.75

23 + AL Bii} T 2t —10km m3
0.75 0.75

A s i HI BE M L B OH m3
103.5 103.5

0-7 Tk HEH $ 100 m
BHO. 2m3 (0. 55%0. 43-0. 13%0. 13*0. 785)*103. 5 23.10

/% A = T FREERD m3




1. fdkE LT

(1—5)

44 = 7 =
a—p £ i} K ST ik Hifr| s i &

2.5 2.5

4-7 EEAs ¢ 100 m
AS 2. 0%2. 5 5. 00

Fii 4E ] M T 15cmEh T m
AS 0.55%2. 5 1. 40

BO%E B b oL T 10cmPh T m2
Ny R EIFEIA 0. 55%]. 33%2. 5 1.83

B i Eii Hil T BHO. 2m3 m3
BHO. 2m3 (0. 55%0. 43-0. 13%0. 13*0. 785)*2. 5 0. 56

i A = T PREERD m3
BHO. 2m3 0. 55%0. 95%2. 5 1.31

T Zel b R T CR-40~0 m3
0.55%2. 5 1.38

#*& =] T| HLKIEAs 20 5cm m2
+#> BHO. 2m3 1.83 1.83

23 + AL Bii} T 4t —2km m3
As3 BHO. 2m3 1. 40%0. 10 0.14

23 + AL Bii} T 2t —10km m3
0.14 0.14

A s i HI BE M L B OH m3




1. fdkE LT

(1—6)

% = 5 =
a—p £ i} K ST ik Hifr| s i &

2.0 2.0

2-6 HIIEAS ¢ 150 m
AS 2. 0%2. 0 4. 00

Fii 4E ] W T 15cmEh T m
AS 0. 55%2. 0 1.10

BO%E B b oL T 10cmPh T m2
N2 HRHIAEA 0.55%1, 14%2. 0 1.95

B i Eii Hil T BHO. 2m3 m3
BHO. 2m3 (0. 55%0. 48-0. 18%0. 18%0. 785)*2. 0 0. 48

i A = T FREERD m3
BHIR HIFEIA 0. 55%0. 31%2. 0 0.34

B ik b R T BHO. 2m3 m3
0. 55%2. 0 1.10

T & I T.| RC-40-0 25cm m2
0. 55%2. 0 1.10

s =] i T M-25  10cm m2
0. 55%2. 0 1.10

#* & T.| #BHRiEAs 20F 4cm m2
4+ BHO. 2m3 1. 25-0. 34 0.91

23 + AL Bii} T 4t —2km m3
As3 BHO. 2m3 0. 55%0. 04*2. 0 0. 04

23 + AL Bii} T 2t —10km m3
0. 04 0. 04

A s i HI BE M L B OH m3




1. fdkE LT

1-7

44 = 7 =
a—p £ i} K ST ik Hifr| = i &

2.0 2.0

4-5 [EiHAs $ 200 m
AS 2. 0%2. 0 4. 00

Fii 4E ] M T 15cmEh T m
AS 0. 55%2. 0 1.10

B4 B b o L T 10cmPh T m2
N2 HRHIAEA 0.55%1, 45%2. 0 1. 60

B i Eii il T BHO. 2m3 n3
BHO. 2m3 (0. 55%0. 55-0. 25%0. 25%0. 785) *2. 0 0.51

/% A = T FREERD m3
BHO. 2m3 0. 55%0. 95%2. 0 1. 05

VL5 Zel b = T CR-40~0 m3
0. 55%2. 0 1.10

#*& & T| HLKIEAs 20 5cm m2
+#> BHO. 2m3 1.60 1.60

23 + AL Bii} T 4t —2km m3
As3 BHO. 2m3 1. 10%0. 10 0.11

23 + AL Bii} T 2t —10km m3
0.11 0.11

A s i HI BE M L B OH m3




(2-1)

%

[n ]
=—N4 wmr KR+ E Bf7| & %5
oK E
(B ¥

HIVP 2.0 2.0

M E R e =V ¢ 20 m
HIVP 1 1

HI-TSY/vb ¢ 20 ]
HIVP 2 2

HI-TS/ SV Aok ¢ 20 ]
HPPE 1 1

RV KR $ 100X ¢ 20 ]
YRAGKER |1 1

oy ok T $ 20 ]
1 1

R A — LT $ 20 i
1 1

1EKAEBOX FHE
2.00 2.0

=74 I AY— FRT-174 m




2. FEAKEAER L (2-2)

4 LA i R =

4 wmr KR+ E -1 = Bf7| & %5
oK E
(5 ®)
HIVP 2.0 2.0
HEEAT R T $20 m
1%2+2 = 40 4
TSHEF T $ 20 =]
1 1
e E I T ¢ 20 m
HPPE 1 1
FRLAy KRR E T $ 100X ¢ 20 i
e+ v A 1 1
1K R E T ¢ 20 (B
2.0 2.0

By —T A ) A AR T m




2. faKE LT (2—3)
% = 5 &
a—p 4 i} R NI S AL = i &
B KHhig | D MiHAs
fa K O A @+ T e a7k a7k
AS 2.00 2.00 2
il 4% ] i3y €L 15emPl m
AS 0.55 0.55 0.6
A % O HE b EE L T 10cmPA m2
0.33 0.47 0.80 0.8
B T b Hi T BHO. 2m3 m3
R 0.11 0.11 0.22 0.2
2 A = T BHO. 2m3 m3
AT 0.22 0.17 0.39 0.4
K W g = T BHO. 2m3 m3
0.55 0.55 0.6
i J& B 5 T.| RC-40-0 25cm m2
0.55 0.55 0.6
= Je B 5 T M-25 10cm m2
0.55 0.55 0.6
# JE | #RIEAs 20F 4cm m2
+#> BHO. 2m3 0.11 0.30 0.41 0.4
b5 + s # T 4t —2km m3
AsHi BHO. 2m3 0.02 0.02 0.1
b5 + s # T 2 t —10km m3
0.02 0.02 0.1
A s HE HI B M L B OE m3




2. ¥KE LT

(2—4)

% = 5 =
a—p £ i} K ST ik Hifr| s i &
L= 10
B Ritig fak
TEHIFEA 0. 55%0. 60%1. 0 m® 0.33
- A A N - | N BHO.28m’
0. 55%0. 20%1. 0 m® 0.11
[ N % T PrRERD
e+ 0. 55%0. 40%1. 0 m® 0.22
B o M K T BHO.28m’
BH0.28m3 _1-fib 0.33  — 0.22 . 0.11
53 T AL b T 4t=2km
L= 10
D MT5EAs Fak
AS 2.0 3k 1.0 m 2.00
& E ) W T 15emPd F
AS 0.55 1.0 2 0.55
G % OHEL v EEOL T 10cmPL
N DI R IA 0.55__ % 0.86 * 1.0 o 0.47
B i Eii il T BHO. 2m3
BHO. 2m3 0.55 % 0.20 % 1.0 . 0.11
b A % T PrRERD
BHYE A A IA 0.55 % 0.31 * 1.0 o 0.17
B i b = T BHO. 2m3
0.55 % 1.0 2 0.55
T & I T RC-40-0 25cm
0.55 % 1.0 2 0.55
i = # 1T M-25 10cm
0.55 % 1.0 2 0.55
#* & T.| #BHRiEAs 20F 4cm
+#> BHO. 2m3 0.47 — 0.17 . 0.30
053 + AL B} T 4t —2km
AsHl BHO. 2m3 0.55 % 0.04 1.00 . 0.02
053 + AL B} T 2 t —10km
0.02 . 0.02
A s ¥R HI BE M A B




